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QUESTION 1

Examine the structure of the customers table: 

CUSTNO is the primary key in the table. You want to find out if any customers\\' details have been entered more than
once using different CUSTNO, by listing all the duplicate names. 

Which two methods can you use to get the required result? 

A. Self-join 

B. Subquery 

C. Full outer-join with self-join 

D. Left outer-join with self-join 

E. Right outer-join with self-join 

Correct Answer: AB 

 

QUESTION 2

Which four are attributes of single row functions? (Choose four.) 

A. cannot be nested 

B. manipulate data items 

C. act on each row returned 

D. return one result per row 

E. accept only one argument and return only one value 

F. accept arguments which can be a column or an expression 

Correct Answer: BCDF 

Manipulate data items, act on each row returned, return one result per row, and accept arguments that can be a column
or expression. Incorrect answer: 

A. is not single row attributes 
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E. functions can accept more than one argument, e.g NVL2 Refer: Introduction to Oracle9i: SQL, Oracle University
Study Guide, 3-5 

 

QUESTION 3

Examine the structure and data in the PRIC E_LIST table: Name Null? Type 

PROD_D NOT NULL NUMBER(3) 

PROD_PRICE VARCHAR2(10) 

PROD_ID PROD PRICE 

100 $234.55 

101 $6, 509.75 

102 $1, 234 

in the same format as the PROD_PRICE. Which SQL statement would give the required result? 

A. SELECT TO_CHAR(prod_price* .25.\\'$99.999.99\\') FROM PRICEJLIST: 

B. . SELECT TO_CHAR(TO_NUMBER(prod_price)* .25.\\'$99.999.00\\') FROM PRICE_LIST; 

C. SELECT TO_CRAR(TO_NUMBER(prod_price.\\'S99.999.99\\')* .25.\\'$99.999.00\\') FROM PRICE_LIST: 

D. SELECT TO_NUMBER(TO_NUMBER(prod_price., $99.999.99\\')* .25/$99.999.00\\') FROM PRICE_LIST: 

Correct Answer: C 

 

QUESTION 4

View the Exhibit and examine the structure of the products table. 

Evaluate the following query: 

Latest 1Z0-061 Dumps | 1Z0-061 PDF Dumps | 1Z0-061 Practice Test                                3 / 5

https://www.pass4lead.com/1Z0-061.html
https://www.pass4lead.com/1Z0-061.html
https://www.pass4lead.com/1Z0-061.html


https://www.pass4lead.com/1Z0-061.html
2022 Latest pass4lead 1Z0-061 PDF and VCE dumps Download

What would be the outcome of executing the above SQL statement? 

A. It produces an error. 

B. It shows the names of all products in the table. 

C. It shows the names of products whose list price is the second highest in the table. 

D. It shows the names of all products whose list price is less than the maximum list price. 

Correct Answer: C 

 

QUESTION 5

A data manipulation language statement _____. 

A. completes a transaction on a table 

B. modifies the structure and data in a table 

C. modifies the data but not the structure of a table 

D. modifies the structure but not the data of a table 

Correct Answer: C 

modifies the data but not the structure of a table 

Incorrect answer: 

A. DML does not complete a transaction 

B. DDL modifies the structure and data in the table D. DML does not modified table structure. 

Refer: Introduction to Oracle9i: SQL, Oracle University Study Guide, 8-3 
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